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PMC PRACTICE TEST 17
BIOLOGY

Where the heterozygote Is Indistingulshable [rom one of the homozygoles the
allele Involved Is sald to be?

A. Recessive B. Dominant
C.Bolhaandb D. None of These
Bond specificity of an enzyme Is also known as?

A. Relative specificity B. Size specificity
C. Group specilficity D. None of these
What type of molecule Is Chlorophyll?

A_ Inorganie B. Caltionic

C. Anionie D. Organic
Which of the following bacteria are thick rigld and ,'.plrnl"
A. Coccus B *\i’

C. Spirillum DB llus

What percentage of proteln is found In [he cell mumlu ane?
A. 204- ,.;/ o 4n-sn

C. 60-20 I.’t

Of the following which one Is pot Inrlu \Eﬁmﬂ.
A. Arthropols : \\B‘_\}Qmﬂimdllﬁ
C. Annelids : D. "Molluscs

An Increrase in plamt girth due to activity nfl\\lgh\b the fallowing?
A. Cork cambiui B. Vnsculnr u:{ﬂﬁum

C. Pith N\ : D. Both m:n.

The glycerols are considéréd hackbone ol ».
A.DNA _\ M\ TSBRN,
CJ'iTF 1"\ D. ;l"nglycmd-:s
'l'heilllractlnn between-water mnletulu.l.-. termed as:

L{.'c‘:hesmnf Y ™~ '/ B.Tension
C.Adbesion —— D. Imbibition
Which two redctlons occur d g photophosphorylation

A.ATPis hydml{fd and NEAD!P is reduced.

B. ATP is h}rdrnl_',rs:.tmidN DPH is oxidised.

C.ATPis symhcs:se‘cl;n NADP is reduced.

D. ATP is synthesiséd and NADPIH is oxidized

A rellex actlon lnvoelving two or more Interneurons between sensory and
maotor mator neuron is called:

A. Monosynaptic reflex B. Polysynaptic reflex

C. Hermi Synaptic reflex D. None of these

The subsirate concentration that produces exactly halfl of the maximum
reaction rate can be described by?

A. Michaelis equation B. Menlen equation

C. Bernoulli equation D. Michaelis-Menten equation
The image represent by compound microscope Is

A. Real B. Virtual

C. Real inverted D. Virtual inverted

The arrangment ol cocel Is basically due to thier

A. Shapes B. Planes of division

C. Binary tission D. Chain formation
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Q.15

Q.16

Q.17

Q.18

Q.19

Q.20

Q21

Q.22

Q.23

Q.26

Q27

Q.28

Q.29

How can hepatitls be controlled?

A. Adopting hygienic measures B. Routine vaceinations

C. Screening of organ donors D. All of the above

If we conslder Hardy-Weinberg law, then following is incerrect in its sense?
A. Mutations cause changes in genetic frequency

B. Migration changes allele frequency

C. There should nol be selection

D. Non-random mating will reduce chances of evelution

Which one of the following statements about enzymes Is not true?

A. They are sensitive to heal

B. They consist of proteins or withou! a non-proteins part

C. They change the rate of catalyzed reaction

D. They are non-specilic in their action

The lunction of tropemyosin [s to prevent actin and myosin from — when the

muscle Is at rest, .
A. Interacting v .&Iﬂ“m
C.Both A and B D %&u fthese

Change In the lrequency of alleles :Ii’ ﬁ:tus that l;'h_ by chance Is which of
the fallowing phenomenon? 5
A. Mulation . S
C. Non-random mating Genuttc dl:lﬂw-.,
The number of autosomes In human sperm)ir__‘
Al

The outer pnﬂéllgnual !
B. Gray m:i'E r

e \\\_\\“‘*\

-Dw'Nmmeelinn!ed nerve fibres
]]Inn-n'd:ln enclature m:h rluu.-:l by 7

ﬁ.;\ﬁ,ﬁlulle Innaeus

G Mendel N | v, D. Darwin

Pre Chunlllu h another e ui'ul which of the following?
A. Eth:mdmn L B. Verlebrates

C. L‘I:mrui:?ﬂ‘s/a D. Hemichordates
All DNA viru repl[cntelnt nucleus?

A. Yesall - f,/ B. No

C. Yes but some excepfions D. They replicate in cytoplasm
All of the followlng are true for platyhelmlnthes except?

A. Flatworms B. Triploblastic

C. Bilateral symmetry D. Coelomate

The bacteriophage Is shaped as?

A. Rod B. Spherical

C. Tradpole D. Helical

Campared to gram negative bacteria, how many more membrane-bound
erganclles do gram positive bacteria contain?

A0 B.1

C.2 D.3

What type of bonds exist between an enzyvme and Its prosthetle group?
A. lonic B. Covalent

C. Hydrogen D. Metallic

End of menstrunl cycle In old age Is called?
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Q30

Q31

Q32

Q33

Q34

Q35

Q36

Q37

Q38

Q39

Q.40

Q41

Q42

Q.43

A. Andropause B. Gamelopause

C. Menopause D. All of these

In the human body, the group formed by neurans enclosed In the membrane
al certain body parts is called?

A. Benign B. Malign

C. Ganglion D. Neuroglial

Gut In pseudocoelomates Is made from which of the [ollowlng?
A. Ecloderm B. Mesoderm

C. Endoderm D. All of these

What is produced In the muscle cells during extreme physical activity?
A. Acelyl coA B. Alcohol

C. Lactic acid D. All of these

The offspring of mating between two pure stalns are called:

A. Hybrid B. The P generation
C. Mutants D. rJ'M: F2 generation

Which of these lobes contains Broca’s area; whi
ability?

A. Frontal kE Parietal
C. Temporal T D Oceipita
Apomixlis is a form of which of the l'allnh'lllg?
A. Parthenocarpy \) I‘urthmn
C. Vernalization ( I. of thes-. )
The [uran rlng Is an Impurh t structural :nmmnlﬂh[nlnglﬂ molecules.

How many t:l.rbﬂflq.:l oms are tequired to form ribof
) /
D, 2

T\,

Is assoclated with speech

ﬂ;r

C.6

The prmn} sulfering from. ﬂul nic bronchltisatthé age

‘**f’“’ —\ D \ We-iV
D.45

'I;h ronchl dlyid@Tito the I and-make Mine tubes that are termed as

A‘nﬁfmj B. Bronchioles

C. Pharynx ducﬁ D. Alveolar duct

An emu‘?‘[’;a[d to be denatored In the presence of?

A. No cofacto B. Low temperature
C. Extremely hugh D, None of these
Il enzyme cnnce‘it'lr on Is low than substrate pIl and temperature values are

equal to requlrement then which of the lollowlng will Increase rate of
reaction?
A. Increase in concentration of substrate B, Increase in pH

C. Increase in temperature D. Incrense in concentration of enzyme
All of the followlng are trace elements excepl

A. Iron B. Chromium

C. Nickle D. Sulphur is minor element

Which of the following statements are true about the capsomeres?

A. 1t is an individual unit of the capsid B. It is a viral protein for replication
C. A. It is a unit of nucleic acid in viruses  D. All of the above

Mild wheezlng, Fever, chills, and shortness of breath; all are symploms of
A. Emphysema B. Asthma

C. Pneumonia D. Braonchitis
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Q44

Q45

Q46

Q47

Q.48

Q49

Q.56

Where does the detoxification of harmful drugs occur?

A.RER B. SER

C. Golgi D. Both A and B

At Joints, the exoskelelon are:

A. Thick, sofl and Mexible B. Thin, soft and flexible

C. Thin, hard and immovable D, Thick, hard and flexible
In terrestrial conditions, the type of fertilizatlon more common Is:

A. Internal B. External

C. Self D. All AB and C are correct
Which of the following is the best description of a bacteriophage?

A. Fungus B. I'rokaryote

C. Living organism D. Obligate intracellular parasite
Which of the following glands contribute to the production of semen?
A. Seminal vesicles B. Bulbourethral glands

C. Prostate gland D. All ol These

Which braln part is responsible for the furm:i] nrlung lerm memory?
AL Medulla us

C. Hippocampus 4 D Cnrptu losum
Where in o leal mesophyll cell w ,u DNA mblécules?
A. Nucleus only \
B. Nucleus & mitochondria nnlf \

C. Nucleus, Inllnchnndm elhdoroplasts only

D. Nucleus, mltn:hundna, ch], plasts & plasmu:[!u
Net yield of 120 fn hnlu:]‘h HI! is?
Al A
C.3 :
Fldgmn.'ﬁl} ypus and pa
I.'nllll"ll'fllz"

A. l liﬁ"lcul,hr:rmm
-.'.I|.1-:11u lh-: i

Whiéh of e fol
nh\le? -y/'_!
A. A sharK'S heart has

chambers.
B. Shark gillsa nnt I:-'_', operculum whereas those in a whale are.
C. Sharks do not pns s a swim bladder whereas whales do.

D. Sharks have placmd scales on their skin whereas whales don't.

Example of 2 homologous organ s represented best by which of the
following?

A. Wing of an insect, wing of a bird B. Leg of a dog, leg of a spider
C. The arm of a human. wing of a bird D. All of these

A key property ol a llving belng Is that it contalns for making Its
proleln

A. Amino acids B. Mitochondria

C. mRNA D. Ribosomes

n a certain fMower, a blue pelal phenotype Is domlnant to a white petal
phenotype. If you cross a heterozvgous Mlower with a homozygous recesslve
Nower, what Is the probabllity of inherltance for the white petal phenotype?
A.25% B. 50%

C.75% D. 1
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Q.57 What types of viruses contaln the enzyme lysozyme to ald In thelr Infection?
A. Bacteriophage B. Animal viruses
C. Planl viruses D. Fungal viruses
Q58 What would youo predict would happen to pancreatic enzymes If they were
Introduced 1o the stomach?
A. Their funclion would decrease due to increased pll
B. Their function would decrease due to decreased pll
C. Their unclion would increase due to decreased prolon concentration
D. Their function would increase due to decreased pll
Q.59 What is net true about enzyme?
A. The Keq of a reaction remains unchanged in the presence of an enzyme
B. Enzymes speed up the rate of reaction in DNA synthesis
C. Harsh, acidic conditions can complelely denature an enzyme
D. An enzyme is completely converted to product during metabolism
Q.60 A chloroplast has 3 maln companents. They nrc the envelope, stroma and?

A. Thylakoid B FI umclcs

C. Granum D (‘cm.msnme
Q.61 The smallest bactcium ls

A. Mycoplasma ‘““'*B‘Lﬂ

C. Pseudomunas D Eschm

Q.62 Which of the following st:ll!mrnl ahuul mn is ln

A. They not only cnnduct mpulses but also genﬂ e them

B. They are nol the nnlv r:r:[ll.l]:n' component of ﬂt'nrﬂus systcm

C. They may shnw'"il ited regellemm e cﬂpahllllles

D. Like all the: l.'mn.g cell, il w hmtﬁd'ymalurc and dwulc 1o form similar cells
Q.63 What hagpr.'nt In & tnnl.n!cted mns:l! ﬂIl‘r-a"’

A. A ban ishes SQ Nl \“\\E a'lmmshzs

N
C. znmclnhgnles w i D. Ih:md is steady

Q.64 I;:Eefnr the fnllnwinﬁ terms Is bm@mt as a mature, motile, and haploid

fu cell prudufﬁr durlng spermwnhis"

A‘LSpcnnnnf P \ 1;" B. Spermatogonium

C. Seu:lndanr s;nemnlm:yle \H D. Spermalozoa
Q.65 The [lrncﬁf"iut does not occur durlng explration is;

A. Intercosial muscles are r:!a.x’ed B. Ribs are relaxed

C. Muscles of -:Imp]:lmg:m ‘relaxed D. Lungs are relaxed
Q.66 Visible light used In photosynthesls ranges from nm?

A.300-700 ° B. 350-750

C. 380-750 D, 390-790

Q.67 The property of water due to which it works as a temperature stabilizer and
hence protect llving erganisms from sudden thermal changes is?

A. Dipole natre B. High specific heat of vaporization
C. High specific heat capacity D. Iis liguid state
Q.68 Carbonlc anhydrase Is found In:
A.RBC B. Parabronchi
C. Pleura D. None of these
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Q.69

Q.70

Q.71

Q.72

Q.73

Q.14

Q.75

Q.76

Q.77

Q.78

Q.79

Q.80

Q.81

Q.82

PHYSICS

Magnetlc Fleld lines move [rom

A. North 10 south B. South to north
C. East 1o west D. Wesl to east
Which ol the Iollowing statements Is true?

A. Power is proportional to vollage only

B. Power is proportional to current only

C. Power is neither proportional to vollage nor to the current
D. Power is proportional to both the voltage and current

The displacement Is a:—

A. Veclor quantity B. Scalar quantity

C. Neither veclor nor scalar quantity D. Dimensionless quantity
Spectral lnes Is llke a of absorbed or emlsslon energy In a
specirum

A. Charged patiern E’fgi gerprint pattern

C. Discharged pattern “'f‘l bi‘m of these

Alumlnum Is:,.. L
A. An excellent conductor i semimn clor
D

C. An insulator mtn:nnd

Which of the following types of lorce o no "Iml'kl'm cle upon
which It acts ' \\

A. Frictiona] force ' mnul force

C. Centripelal fo D. Elnh\h GE

The Ir::cllun:l\'.ﬂlllg n resistance per kelvin Is W

A. CoelTicient in resistan \E Tem 1 coefficient of resistance
C. Rmsluﬁ \\\ \ N} m_;:‘u%es:

Webef s the \unit of J .

B. Electric flux

Al lhﬁﬁ_lfﬁ‘iux
\ . None of these

C’.Bnlh aorb

In ﬂi}lﬂﬂ reactions wﬁunutleu! breaks heat energy s
hlmd 0 ¥/ B.Absorbed
C. Rcﬂmud D. Any of these
In a half wave rectification, the diode conducts during
A. Both haxr:yuféé“:/’“ B. Positive half
C. Negative halfy_~ 7 D. None of these
All changes which éccur suddenly or which involve friction or dissipation of
energy through conductlon, convectlon or radlatlon are:....
A, Irreversible changes B. Chemical changes
C. Cyclic changes D. Reversible changes

A body Is moving In a circle al constant speed. Which statement is true?
A. The resullant force acts towards the centre of the circle

B. There is no resultant force

C. The resultant force acls away from the centre of the circle

D. None of these

The energy of clectron in nth orbit of Hydrogen atom is

A-00136ev B.-1.136 ev

C.0.136 ev D. None of these

Internal energy Is of path

A. Independent B. Dependent

C. Highly dependent D. Not enough information
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Q.83

Q.84

Q85

Q.86

Q.87

Q.88

Q.89

Q.90

Q.91

Q.92

Q.93

Q.94

Q.95

A park has an outdoor organ. When the alr temperature Increases, the
fundamental [requency of one of the organ plpes:....

A. Is impossible to determine B. Siays the same

C. Decreases D, Increases
Michelson's interferometer works on the principle of:

A. Interference of ligh 1 B. Refraction of light
C. Reflection of light D. DifTraction of light
Il mass and speed both are doubled kinetle energy will

A. Increases 4 limes B. Increases 6 times
C. Increases 8 limes D. Increases 10 times

Flnd the Lorentz force of a charge 2.5C having an electric fleld of 5 unlts and
magneltle Meld of 7.25 units with a velocity 1.5m/s.

A 39.68 B.68.93

C.89.39 D. 63.98

The reverse process of palr production Is I-:nu_ as:

A. Annihifiation of energy _ A.I Pair production

C. Materialization of matter

D. Annihilation of practical into its mmﬁah@; \
The heat sensitive device whose rétﬂlﬂty-c anges vi
:f l;m!inrnlurn Is called a: _ ““‘g .
. Resistor wSuper-
N\
C. Thermocouple 3 Thermistor :
A gardener move :l lawn rﬂl through a distancé'of 50 m. App force Is
N

50 N inclined at ﬁﬂ Tee ul' el
by the gnrllent{ \ 1 /
\i 2500J

n 1250)
1250 : iL D.=23
A rJrl."I:IiLt Cpdds pmlll‘u or negative de \‘I:Ili} to an input sine wave Is

A.Clumpr:r \\' B. Clipper
Cmbdﬁlamp "/ D.Limiter

Cumlll!rn:hurgﬁrl-; placed In a réglon where both electric and magnetle
ficlds are present, The :h:}ge- vill experience:...

A. Both electri und____g orces B. Only electric force

C. Only magnel ﬁ:l]i::/ D. No force at all

If the veloclty v:'.‘;r? nearly with time then acceleration Is called

A. Nonuniform B. Discrete

C. Instantaneous D. Uniform

Whenever a transverse wave, fravelling in a rarer mediom, encounters a
denser medium.

A. An incident crest on reflection disappears

B. An incident trough on reflection remains trough

C. An incident crest on reflection becomes a trough

D. An incident crest on reflection remains crest

If an object moves with constant speed then [is acceleration always Is

rapldly with change

be the work done

tion of motion

A.Zero B. Nonzero

C. Infinite D. None of these
Atomle spectrals a specira

A. Continuous B. Discrete

C. Both A) and B) D. None of these
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Q.96 Ilradlal distance Is 2 m and lnear acceleration Is 2 m the angular
acceleration becomes

MAd B. 14
C.6 D1
Q.97 A charged particle enters In a strong magnetic Meld, Its K.E
A. Decreases B. Increascs lhen decreases
C. Becomes zero D. Remains constant
Q.58 Which wiler Is used to reduce the speed of last moving neutrons
A Salty water B. Pure water
C. Heavy water D. Muddy water
Q.99 What is the radlus of circular path, Il particle has mass m and charge q
A.r=qb/m B.r=mv/B
C.r=mv/qB D. r=mvr/qB
Q.100 For a reversible process, necessary conditlon is
A. Heat energy should be zero B. I’-I:rucess must be fast
C. Process must be quasistatic . Process must not be in equilibrium

Q.101 An Immersion heater of 400 watts kept En for S l;h rs will consume electrical

power of

A ZKWh 5

C. 6KKWh \ IK“
Q.102 E=F/q Is the formula for? \\

A. Electrical field strength cirical field inte
C. Both of them \ D. N&ne f them
Q.103 The number nrdjﬁ'n in bridge rectifier is

A.4
C.2
Q.104 When lh‘lla\:glh of the co

A
rrmlns.lhe,{ me Lhen -i?ltuht EI’ ‘/
JL mains the same ill be doubled
'\‘tﬂl b:cnm':. D. Will increase by four times
0Q.105 l

A i‘nn-a v/

edl'and 1heé area of cross-sectlon

B 1 =104V

C. lxll}* D 1*=10-6V
Q.106 To start a fusion. [g_nq_grrjn rey required is

A. Small B. Large

C. Infinite ' " D. Zero
Q.107 The net lorce actlng In an Inertlal Irame Is

A Posilive B. Negalive

C. Zero D. None of these

Q.108 A wheel whose radius is 50 cm rotates at an angular velocity of 6 rad/sec. The
linear veloclty of the rim of the wheel Is closest o

A lSm's B.4.5m/s
C.3.0m/s D.7.5m's
Q.109 When electron series lerminates on 4th orbit _ series Is obtained
A. Balmer B. IMund
C. Paschen D. None of these
Q.110 If racdlus of object Is doubled the centripetal foree acting on same object
becomes
A. Double B. Hall
C. Eight times D. Remain same
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Q.111 In nuclear Msslon, 0.1% of mass Is converted Into energy. The energy
released by the Msslon of 1 kg mass will be.....oiid
AL9%10M9 B.9*10~17
C.9*10"16 D.9*10"13

Q.112 The length and radius of an eleciric reslstance ol a certain wire are doubled
simultaneously, then the:
A. Resistance will be doubled and specific resistance will be halved
B. Resislance will be halved and specific resistance will remain uncharged
C. Resistance will be halved and the specific resistance will be doubled
D. Resistance and specific resistance will both remain uncharged

Q.113 An Ideal gas of n moles Is enclosed In a contalner at a constant pressure p.
The graph between volume of gas and lts absolute temperature Is a stralght
line. What is the gradient of the graph?

AnR p B.onRP
C.n—RP R
Q.114 Consider a car Is travelling for one hour. Yhich of the following cases has

the greatest average velocity in east-direction™

A, Car travels 20 km due east Lﬂ

B. Car travels 60 km due east, then fu l:mu mn d thﬂs 0 km due west

C. Car travels 70 km due east \N

D. Car travels 30 km due \uﬁ( hen tumns aro \Vq%nndtrm 0 ke due east
Q.115 To get a peak load mlugtu[ OV out of a bH T ‘l!llltlhuultl be the

approximate rms value ol sec ndary wllngn"

A.OV A \
C.28.3V N . D. 565\;\7

Q.116 An ohjcctj!i:llqplacnﬂh'm pqdl:_!hnnm or-rl (Zl+3 m lo r2 = (4] + 6k)m
under a force F= (3xA2 H2y" DN Flmll.htﬂr]':' ofie by this force

%3‘33

D.<83]

Q.117 .L*unjng Tork A p’ﬁﬂhd beats wl!h:nﬂlher tuning lork B. if the
!'mquﬁ:fc_rﬁfming fﬂl’kB}|3ZD Hz, fen the frequency of tuning fork A Is:
A.320%4 2 B.320/4
C.320+ D, 320

Q.118 Calculate the chmn g/through the circult If It's current it 10 Amp and
the recarded tlm'if'lfeﬂfnds

A /55'3 —

A. 1500 Coulomby B. 150 Coulomb

C. 13400 Coulomb D. 140 Coulomb
Q.119 The white laser cannot be produced because

A. lis is not coherent B. It has low energy

C. It diffracts easily D. All of these

Q.120 What Is the Internal energy change In system that has absorbed 800J of heat
and work dane Is S0(J?

A. 2001 B. 5501
C. 600) D. 300
Q.121 Scatiering is a process Involving
A. Reflection B. Refraction
C. Diflraction D. None of these

Q.122 The Increase ln the capacltance of a capacitor due to the presence of
dielectric Is due to:...
A. Electric polarization of dielectric B. Density of diclectric
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C. Volume of dielectric D. Magnelic dipole moment
Q.123 Absorbed dose D Is deflned as energy absorbed from lonlzatlon radiation per

unit
A. Mass B. Charge
C. Time D. Area
Q.124 1T magnetic Meld Is doubled then magnelic energy density becomes
A, Four limes B. Two times
C. Three limes D. Six times
CHEMISTRY
Q.125 Asreactlon siarts [nstantaneous rate Is
A. Higher than Average rate B. Lower Than average rale
C. Equal lo average rate D. None of these
Q.126 Atloms In solids are
A. Loosely Packed B. In random motion

C. Excited D.‘él sely packed
Q.127 The mass of one mole of electron s L\

A. 1.Bmg B. 0.18:

C.055mg / A h
Q.128 Elements of group 7A are called™ m \\

A. Good loser \\B od gai

C. Enerpelic ' | ' bl g
Q.129 A pistonina r:}limltr 5 :lplrl uf

A. Syslem E Surmu mﬂs

C. Bl:numiﬂrj.Ir \I. D None lﬁ"l'h:ﬂ?
Q.130 The Diameter nl‘]JN.‘l $.ma 1 ’

A Dlpolcﬂf le l'nrr.'es mdun-ed lpoIe forces

Q.1131 ;’L‘I."l r""“‘l‘h a lundenn‘ﬂlm ng In "n aril :lrul backward directlon

:l.:l:l!l:ll.l!.'\ Is term
AL Im mﬂ.ﬂﬁ B. Unidirectional

mﬁdﬁtﬂlﬂﬂﬂ[f"“ D. Reversible
Q.132 Which ‘ol {he rb"r:’ming ghﬂ Markovnikov's product with Propene?

A. HBr B. H,S0,/H,0
C. HB3r D. All of these
Q.133 Molten sodium bul brilliant yellow Mame in a chlorine atmosphere to
form__ 2 ¥
A. NaCl B. NaOH
C. NaBr D.ClO
Q.134 The product of the nucleophilic addition of aldehyde and ketones Is called
as ?
A. Alkanolone B. Adduct
C. Cyanohydrin D. Nucleophilic product
Q.135 Which enzyme causes the hydrolysis of fats 7
A. Urease B. Lipase
C. Maltase D. Prolease
Q.136 What is the pHIl of human blood?
A. 745 B.7.35
C.7 D. 7.53

Q.137 Molecular Solids are held together by weak Intermolecular lorces called
A. Van der Waal lorces B. Dipale Dipole Interaction
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C.Both A and B D. Elecirostatic Forces
Q.138 Which of the following can form a chelate

A. Ammine B, Oxalate
C. Carbonyl D. Cyano
(.139 The "'m’ quantum numher describes the of clectron
A. Encrgy level B. Orbilal or subshell
C. Onentation of orbital D. Spin of eleciron
Q.140 Adheslve nature of honey and glue Id due to presence of ?
A. H-bonding B. Dipole dipole forces
C. Tonic forces D. Debye force
Q.141 Which one of the [ollowing Is correct structure of benzene?
A, Tetrahedral B. Hexagonal planer
C. Hexagonal irregular D. Trigonal planar
Q.142 Which Is the correct order of decreasing acldity of Lewls ackds?
A.BBr3 >BCI3 >BF3 B. BF3 =BCI3 > BBr3
C.BCI3 > BF3 > BBl (BB3 > BF3 > BCI3

A, 2-Chloropropane B 3-B\inz‘l>ébulane
C. 2,3 dichloropentane \“-.D"E-c!ﬂ?iuﬂ- thylpentane
Q.144 Out of 28 natural Isotopes, how m:mv, 7Y ﬂ'm ltﬂl.'l'lll:..E r and mass

number
A 152
C. 154

Q.145 The probability of | ding :m lectron \}vnn‘il_!;tge distances
from the nue 4
A. Becom -:me

Q.143 Which one of the fallowing is not a scann llli}'l halide?

B Becomes
C. NE\'H mes zero D. Va:rlesd'mm to ]
Q.146 “ ﬂ‘;l Is ul:t:lnedh;rl} tillation nl'mlr( um acetate ?
1\.4 -.lnm: B. Kcuta[dchydc
q F unldn: D Carboxylic acid
Q.17 TIB Imnlm u[hﬂtreq 1o fnnn pors of one mole of a liquid at its
bolling polnt s uﬁﬁﬂ;ﬂ

A. Molar Ti€at of fusion B. Molar heat of vapourization
C. Molar heat uf‘sulg_l_u_rua D. Molar heat of Evaporation

Q.148 The denslty nl' :l:ﬂﬁ; mes the denslty of a gas Y. Il the molecular mass
of X is M then ﬁtn}. I be molecular mass of Y

A.M/6 B.2M
C.6M D. &M
Q.149 Which of the following lon Is stable ?
A. Ethoxide ion B. Tertiary Alkoxide ion
C. Secondary anion D. Phenoxide ion
Q.150 The solutlon of phenol In water has a pll of about?
A 45 B.3-5
C.24 D. 5-6
Q.151 Boiling point of carboxylic aclds are high due (o7
A. Polarity of carbonyl group B. Due to methyl group
C. Due to H-Bonding D. Due London forces

Q.152 When a catalyst Is added to a reversible reactlon, at equllibrium state the
value of equilibrium constant
A. Decreases B. Increases
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C. Remains unchanged D. First decrease then increase
Q.153 Why oxldatlon of ketones [s not easy 7

A. Because they involve breaking of C-O bond

B. Because it involve breaking of C-C bond

C. Because it involve breaking of C-H bond

D. Because it involve breaking of C=C bond
Q.154 In the enthalpy relation, AH=({q)p + A(PV) the value A(PV) can be neglected

for the reactlons Invelving ___ 2

A. Gases B. Liquids
C. Liquids and solids D. Liquids and Gases
Q.155 1M two amlno aclds are Jolned by peptlde bond than the molecule Is called
as ?
A. Polypeptide B. Peplide
C. Dipeptide D. Tripeptide
Q.156 Carboxylic aclds are produced by the u:lr.lnllon
A. Alcohol \{myde
C. Ketone D AHU hese
Q.157 The lormatlon of negatlve lon Is a/and ! m:css“.\‘:‘\
A. Exothermic A "‘ME"‘_EmlﬁE‘l-!lm'l;;x
C.BothA&B Q -D. Nane ofthese
Q.158 [Inmnqcl[c compounds nre{ahu called a \“‘x N
A. Heterocyclic cnmpu’u_uﬂ's BaAli eyclic C‘mpm&:
C. Aliphatic compounds D. CI}C‘)’C'IE r.'nmp;:lunds

Q.159 Which of the l'nlln#r g oxi g agents can n:lltilze benzene?

A.KMnO, £ \ \ \E i;,c'rf,//
C. KHMnQ \ D.V;0, /

Q.160 The Isamer in ﬂh[r.i ﬂmpﬂnds have differen Aumber of carbon atoms
on bith slﬂehiil' the fun cthmll :rn up Is callﬂ! as?

.r_]_ tomerism B. ﬂ?cmmcrlsm
ti metncalhﬁﬁ'ﬁm 7 7D. Position isomerism

Q.161 'nu methiod used for preparation jl‘:ff_lllcnnl Is

A, hn!bc_'s metb.od/n d B. Dow's method

C. Nitration ™~ D, Williamsons synthesis
Q.162 What is the common name of 2-methyl-2-chloropropane ?

A, Secondary p Tl:‘-ndf B. Tertiary butyl chloride

C. Secondary bu!ql ?lﬂuﬁde D. Isobuty! Chloride
Q.163 One atmosphere Is the force of long column of mercury on an area of

Icm® atc

A, T6cm B. 76mm

C. 76dm D. 76pm
Q.164 The shape of KNO3 above 128C Is

A. Cubic B. Orthorhombic

C. Rhombohedral D. Tetragonal

Q.165 I the dilTerence of electronegativity Is 1.7 or more than that, the bond
formed Is sald to be

A. lonic bond B. Covalent bond

C. Metallic bond D. Chemical bond
Q.166 This gas cannot be llquelied by Linde's method

A. Methane B. Carbon dioxide

C. llydrogen D. Helium
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Q.167 Alumlnum, has 3 electrons In Its valence shell, thercelore It has the abllity to

form lon
A Monovalent B. Divalent
C. Trivalent D. Tetravalent
Q.168 The value of energy obtained lor the electron in the nth orbit of hydrogen
atom Is In
A Joules B. Joules/alom
C. Kilojoules D. Kilojoules/atom
Q.169 The molecules like CH4,CCl4 or SIH4 show attliude of non-polarity due to
A. Sructure B. Symmetry of structure
C. Nature of slructure D. Charges on structure

Q.170 Number ol Electrons added on both sldes of oxldatlon and reduction hall
reactions are balanced
A. At the start of procedure
B. Somewhere in the middle of balancing
C. After Adding two Half reactions
D. Before Adding two Half Reactions )
Q.171 Conductlvity of a solutlon changes wil hange Ino
A. Reactant Tons Concentralion B™T: f mixture

o,
C. Adding an Impurity \\;}I:EYHM E'\\
0Q.172 Those elements In which tln(r orbitals \lﬁtpﬁcﬂtﬂm letion are

3y

called

A. Transition elements

C. Outer I.mnsitiqn‘SI ments ilion elemenis
Q.173 Il pressure Is l‘gﬂu od 10 one nd temperature }I,'l-gu’f! doubled, what

will be volume . V

A. Red \timES & \\hﬂ%mﬂ
C. Rémains $ame . , Getd doubled

o !
&,

Q.174 H3Q+ lons act as
ﬁ_Bst B. Caltalyst
M D. Acid
Q.175 Activator of carhnic anhy mels
A, Mn? B. Mg**
C.Zn* y D. None of these
Q.176 Which of the fol i ‘ha¢'higher bolllng palnt?
A.NH3 \ /7 B.11,0
C. HF D.CH,
Q.177 lodoform test Is performed to distinguish between
A. Alcohols and phenols B. Methanol and ethanol
C. Primary and secondary alcohols D. Phenols and ethers

Q.178 Glucese{C&II1206) Is the most important nutrlent In a cell for generating
chemical petential energy, what Is the mass percent of carbon In 1.5g of

sample
A.33% B. 40%
C.53.3% D. 6.67%
Q.179 Spectrum [s the visual display or of component of white light when
It Is passed through prism
A. Rareflaction B. Radiation
C. Collection D. Dispersion
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Q.180 What Is the correct equation to Mnd Heat of neutralization using glass

calorimeter ?
A.qgems AT B.E=qm AT
C.E=ms AT D.g=mc AT
ENGLISH
Q.181 apple a day keeps the doctor away.
AA B. An
C. The D. No ardicle
Q.182 The clephant is of the biggest lanil mammals.
A. Amongst B. Single
C. Lone D. Cne

Q.183 Choose the correct sentence.
A. Belgium and france fought over who would host the olympic games?
B. Belgium and France fought over who would hogt the Olympic Games.
C. Belgium ol France: fought over who wﬂ'ﬁ!d h.'b e Olympic Games!

D. Belgium and France fought over “Im ast 1ympn: games.
Q.184 He since evening. ,a_’
A. Is sleeping : -

C. Was sleeping Ny 3 \
QI85 lam____  lea now. :
A. Taking '
C. Took ":'\
Q.186 Your hands :md ru arly half the bones Iif¥odr body.
A.Contained w /
C. Cnntau{‘ \ \. mtainfig

Q.187 Inn.nllnlm:nmcn“rl g

.l'

:'\. chfﬁlvu H.’ ].m peralive

& Iﬂlﬂ'mg:llh e . Exclamatory
Q.188 \%Heh/’\\

A Whems B. Where's

T —

C. Wheres! D. Wher'es
Q.189 Would not

A. Would'nt B. Wouldn't

C. Woul'dnt D. Wouldnt'

Q.190 Il you lend him a'book (A) he will lend It (B), to someone else (C) and never
yvou will get It back. (D)

A, If you lend him a book B. He will lend it
C. To someone else D. And never you will get it back.
Q.191 Because of his habits, he coulil not save much money.
A. Extravogant B. Frugal
C. Unsavoury D. Bad
Q.192 Qulver
A. Tremble B. Move
C. Tremendous D. Pacify
Q.193 This Is good company lo work with.
AA B. An
C. The D. No article
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Q.194 All that is not gold.

A. Glitter B. Has glittered

C. Glitters D. Is glittering
Q.195 When did you smoking? I am really happy to see that.

A. Cutoff B. Give up

C. Make up D. Throw away
Q.196 Choose the correct spelling of the word

A Benifel B. Benelel

C. Benefit D. Benifit
Q.197 A girl (ride) an elephant around the ring.

A. Ride B. Was riding

C. Rode D. Will ride
Q.198 prune

A lend B. Reduce

C. Expand D.1
Q.199 Choose the correct spelling of the word /_{

A. Possesion B. Toss

. N
C. Posesion : ’\DI ]‘nsr.'s.'ﬂc{
Q.200 Choase the tense:" ITe bought a péw house Jast monthY,

A. Present . E.‘i"a"ﬁt A
C. Future /f / \\D:NDT&

LOGICAL REASONING
Stalements and Aclio
l&\‘{-’u alarming pn;:\htl\\\\n?ihunlr}'. L The

Q.201 Statement The fatio Jpov Lal:
Government needs to lake | | foreconomic and dnyﬂ ment growth. IL
The lower lass area ﬂ?m in"m,HRMM he supported as most

of l_hrﬂﬁflhri_!y\liimll to mouth)' \\'\l P;/
:}_‘%Fﬂ'ﬁﬁ: thém follows \V B. None of them follows
C. Doly 1 follows . Only b follows

n ftrwfé'ﬁ;:\ '
Q.202 Complete the serles”AB, EF, \ ", MN

AT - B.RS
C. WX D. MN

Fact Checking

Q203 Fact 1 All hats have Lrims Fact 2 there are black hats and blue hats Fact 3
Baseball caps are h‘.{ts If the above three statements are facts than which of
the followlng statement will also be a fact 1. All caps have brims I1. Some
baseball caps are blue 111. Baseball caps have no brims
A.lonly B. Il only
C. T only D. None of them is a fact
Dependent Conses’ Independent Canses/

Q.204 Statement: There Is conslderable reduction in the number of people afTected
by water borne discases In clty A during this ralny season. The government
has opencil four new clvil hospltals in City A In the beginning of the year.
A. Statement I is the canse and statement 11 is its efTect.

B. Statement 11 is the cause and statement 1 is its effect

C. Both the statements [ and 11 are independent causes

D. Baoth the siatements [ and 1 are effects of independent causes
Essential parts

Q.205 What should come next to it Recipe
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A. Desserts B. Spoon
C. Utensils D. Cookbook
Statement and Argument

Q.206 Statement Should religlon be banned? Arguments (1) Yes. It develops
fanaticism In people. (11) No, Religlon binds people together.
A. Only arpument I is strong B. Only argument I is strong
C. Either I or II is sirong D. Neither I nor II is strong
ependent Causes/ Independent Causes/

Q.207 1. The third-degree criminal was imprisoned for three life sentences. I1. The
securlty arrangements by the police were more than adequate,
A. Statement | is the cause and statement 11 is its efTect.
B. Statement I1 is the cause and statement [ is its effect.
C. Both statements | and I1 are independent causes
D. Both statements T and 11 are the efTects of independent cause.
Statements and Actions /4

Q.208 Siatement The Management of School M hude&\ldﬂl to give [ree breakfast
from next academic year to all the students in'its [lrlm:n section through its
canteen even though they will not guﬂ: gov :rumnnl grant. Courses of
Action (T) The school will have (o ndmll m:uan or ﬂw&hts who will seek
admisslon for the next academlic wur. (II]TIIE clllh‘.'t'n Iithll!ﬂ and utensils
have to be checked and new 11ﬁrch:l.sﬂ ta b\m.ﬂ!t ln l.'q'llp it \\'n[lnrh (I1II)
Funds will have to be nllleﬂ D support the !ehemt for § years to¢ r.'nnu:

A. Only I1 and 111 fullrms b bnl} I.llam.l I follow””
C.Only land 11 I'I;IIIID D. ﬂnl}'lt Haw
Statements and Munn. j
Q.209 Statemen’llThe av a'lhhlli ul‘lmpu has Ineredsed In the indigenous

m:rl».ut lml"i.o the ll'l'.'ml.llﬂ l‘ur I‘mllgtmul l'rnlt: :u‘l:cm dlecreased. 1. To

hclp The lndlgvnuu-; prndncen n} frults, the Gn €fnment should Impose high
7~ %

Impml duty on these fruits, E\"!Il these are fot of good quality, I1. The fruit

m:l‘ﬂlfh_s_hnuld stop op sell Impnﬂnd\ﬁﬂh. So that the demand for

imligen-uus frults would I:e increa

A. Both of II'trmJ'nl[ B. None of them follows

C. Only I D, Only II follows
Complete lhq. series____4

Q.210 Discernible nnrlPal'p Ie have _ number of same letter
A2 V / B.3
C.5 D..4

As we know there is lot of mistakes in answer keys of
PMC Practice tests, so I have decided to rectify all in

proper in SKN STUDY GROUP
Join it
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